A spacecraft is freed from friction .........
launched into space.

(A) It

(B) Itis

(C) Afteris

(D) Afteritis

wessesnnnens WILH their surroundings, or they
hide in crevices for protection.

(A) Lobsters

(B) Lobsters blend

(C) Lobsters blending

(D) Because lobsters blend

weneeneens. @ DaAll-and-socket joint, the elbow is
a simple hinge joint.

(A) While the shoulder

(B) While the shoulder is

(C) The shoulder is

(D) The shoulder

A car has several sections with moving
parts, ......... . Of those parts is essential.
(A) Good lubrication

(B) Well lubricated

(C) And good lubrication

(D) And well lubricated

Bears cannot see well ........... small eyes.
(A) Bears have

(B) Because having

(C) Because they have

(D) Because of bears

10.

......... at the Isthmus of Panama, so
animals were able to migrate between
North and South America.

(A) A land bridge existed

(B) When a land bridge existed

(C) Aland bridge

(D) With a land bridge

coenneneeene MOStly made of granite, it also

contains some human-made materials.

(A) The Empire State Building

(B) The Empire State Building is

(C) Although the Empire State Building is

(D) Although the Empire State Building is
built

Pressure differences make the eardrum
vibrate ......... the ear.

(A} Enters the sound waves

(B) As sound waves

(C) Sound waves enter

(D) As sound waves enter

An optical microscope magnifies as much
as 2,000 times, but an electron
microscope ........... as much as a million
times.

(A) Magnifying

(B) It magnifies

(C) Can magnify

(D) Magnify it

If scientific estimates are accurate, ........

with the Earth about 20,000 years ago.

(A) The Canon Diablo meteorite

(B) The collision of the Canon Diablo
meteorite

(C) The Canon Diablo meteorite colliding

(D) Colliding The Canon Diablo meteorite
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1. A spacecraft is freed from friction ...... launched into space.
a) It
b) Itis
c) Afteris
d) After itis
2. .. Wait their surroundings,or they hide in crevices for protection.

a) Lobsters
b) Lobsters blend
c) Lobsters blending
d) Because lobsters blend
30 A ball-and-socket joint,the elbow is a simple hinge joint.
a) While the shoulder
b) While the shoulder is
c) The shoulder is
d) The shoulder
4. A car has several sectionswith moving part, ....... of those parts is essential.
a) Good lubrication
b) Well lubricated
¢) And good lubrication
d) And well lubricated
5. Bears cannot see well ...... small eyes.
a) Bears have
b) Because having
¢) Because they have
d) Because of bears



6.

...... at the isthmus of panama,so animals were able to migrate between
north an south America.

a) A land bridge existed

b) When a land bridge existed

c) A land bridge

d) With a land bridge

...... Mostly made of granite, it also contains some human-made materials.
a) The empire state building

b) The empire state building is

¢) Although the empire state building is

d) Although the empire state building is built

. Pressure differences make the eardrum vibrate ...... the ear.

a) Enters the sound waves

b) As sound waves

¢) Sound waves enter

d) As sound waves enter

An optical microscope magnifiles as much 2,000 times but an electron
microscrope ..... as much as a million times.

a) Magnifying

b) It magnifiles

¢) Can magnify

d) Magnify it

10. If scientific estimates are accurate, ...... with the earth about 20,000 years

ago.

a) The canon Diablo meteorite

b) The collsion of the canon Diablo meteorite
¢) The canon Diablo meteorite colliding

d) Colliding the canon Diablo meteorite



MY ANSWER

1. C. Afteris

2. B. Lobsters blend

3. C.The shoulders s

4. D. And well lubricated
5. C.Because they have

6. A.Aland bridge existed
7. B.

8. B.

9. C
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1. A spacecraft is freed from friction  launched into space.

(A) it

(B) itis

(C) after is

(D) afteritis

Analisa: kita menemukan dua verbs (is freed dan launched), artinya kalimat ini harus
memiliki connector untuk menggabungkan dua klausa. Ingat, setelah connector harus ada
subject dan verb. Maka, (D) after it is adalah jawaban yang tepat di mana after sebagai
connector, it sebagai subject, dan is sebagai aux verb.

2. with their surroundings, or they hide in crevices for protection.

(A) Lobsters

(B) Lobsters blend

(C) Lobsters blending

(D) Because lobsters blend

Analisa: Dalam kalimat ini, kita lihat ada dua klausa (ada tanda , dan or) tetapi klausa
pertama belum lengkap. Hanya ada object of preposition di akhir klausa (with their
surroundings), maka kita harus melengkapi klausa itu dengan subject dan verb. (B)
Lobsters blend adalah jawaban paling tepat karena Lobsters sebagai subject dan blend
sebagai verb.

3. a ball-and-socket joint, the elbow is a simple hinge joint.

(A) While the shoulder

(B) While the shoulder is

(C) The shoulder is

(D) The shoulder

Analisa: Dalam kalimat ini, kita menemukan tanda (,). Artinya, ada dua klausa dalam kalimat
ini yg perlu kita lengkapi dengan connector. Ingat! Jika (,) ada di awal klausa kedua, maka
connector ada di awal kalimat.. Jawaban (B) While the shoulder is adalah jawaban yang
tepat karena klausa pertama perlu subject dan verb setelah connector ‘while’. The shoulder
adalah subject dan is sebagai verb.

4. A car has several sections with moving parts, of those parts is essential.

(A) good lubrication

(B) well lubricated

(C) and good lubrication

(D) and well lubricated

Analisa: Kita menemukan tanda (,) pada kalimat ini, maka kita perlu connector untuk
menghubungkan dua klausa agar menjadi padu, jawaban (C) and good lubrication yang
tepat karena klausa setelah (,) hanya memerlukan subject untuk verb ‘is’. Good lubrication
adalah noun phrase (good sebagai adjective dan lubrication sebagai kata benda/noun) yang
tepat untuk berdiri sebagai subject.



5. Bears cannot see well small eyes.

(A) bears have

(B) because having

(C) because they have

(D) because of bears

Analisa: Klausa pertama (Bears cannot see well) telah lengkap. Kalimat yang rumpang bisa
jadi adalah connector, subject, dan verb karena ada noun (small eyes) di akhir kalimat yang
tidak mungkin berperan sebagai subject apa lagi verb. Pilihan (C) because they have adalah
yang paling tepat karena memiliki subject ‘they’ dan verb ‘have’ setelah connector
‘because’.

6. at the Isthmus of Panama, so animals were able to migrate between North and South
America.

(A) A land bridge existed

(B) When a land bridge existed

(C) A land bridge

(D) With a land bridge

Analisa: Terdapat connector ‘so’, maka kalimat ini memiliki dua klausa. Klausa kedua sudah
lengkap, ada subject (animals) dan verb (were). Klausa pertama terlihat rumpang, hanya
ada object of preposition di akhir klausa, maka kita memerlukan subject dan verb, tidak perlu
connector karena sudah ada di awal klausa kedua/setelah (,). Jawaban (A) A land bridge
existed adalah jawaban yang tepat, A land bridge sebagai subject dan existed sebagai verb.

7. mostly made of granite, it also contains some human-made materials.

(A) The Empire State Building

(B) The Empire State Building is

(C) Although the Empire State Building is

(D) Although the Empire State Building is built

Analisa: Dalam kalimat ini, kita tidak menemukan connector setelah tanda (,). Maka kita
perlu melengkapi kalimat ini dengan connector di awal kalimat dan juga melengkapi klausa
pertama yang rumpang. Jawaban (C) Although the Empire State Building is adalah
jawaban yang tepat karena ada connector ‘Although’, subject ‘the Empire State Building’,
dan aux verb ‘is’ untuk melengkapi verb ‘made’.

8. Pressure differences make the eardrum vibrate the ear.

(A) enters the sound waves

(B) as sound waves

(C) sound waves enter

(D) as sound waves enter

Analisa: Kalimat ini telah memiliki klausa yang lengkap, tetapi ternyata klausa itu bukan
satu-satunya klausa dalam kalimat ini karena ada kata benda (the ear) di akhir kalimat yang
merupakan object dari klausa kedua. Maka, kita memerlukan connector, subject, dan verb
untuk menyempurnakan kalimat itu. Jawaban (D) as sound waves enter adalah yang tepat
karena memiliki ‘as’ sebagai connector, ‘sound waves’ sebagai subject, dan ‘enter’
sebagai verb.



9. An optical microscope magnifies as much as 2,000 times, but an electron microscope
as much as a million times.

(A) magnifying

(B) it magnifies

(C) can magnify

(D) magnify it

Analisa: Kita lihat dalam kalimat ini terdapat dua klausa yang dihubungkan dengan connector
‘but’ setelah tanda (,). Namun, klausa kedua masih rumpang dan perlu dilengkapi. Klausa
kedua telah memiliki subject ‘an electron microscope’, maka kita perlu verb yang tepat untuk
melengkapinya. Jawaban (C) can magnify adalah jawaban yang paling tepat karena verb
‘magnify’ adalah bentuk asli untuk melengkapi modal ‘can’. Selain itu, bentuk verb pada
pilihan jawaban lain kurang tepat.

10. If scientific estimates are accurate, with the Earth about 20,000 years ago.

(A) the Canon Diablo meteorite collided

(B) the collision of the Canon Diablo meteorite

(C) the Canon Diablo meteorite colliding

(D) colliding the Canon Diablo meteorite

Analisa: Terdapat connector ‘if” di awal kalimat, artinya kalimat ini memiliki dua klausa.
Klausa pertama terletak sebelum tanda (,) dan sudah lengkap. Klausa kedua terletak setelah
tanda (,) tapi masih rumpang di awal klausa. Setelah bagian yang rumpang, kita lihat ada
preposition ‘with’, berarti dalam klausa itu belum ada subject dan verb. Jawaban (A) the
Canon Diablo meteorite collided adalah jawaban yang benar karena memiliki subject ‘the
Canon Diablo meteorite’ dan verb ‘collided’ yang tepat.
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D. After itis

B. Lobsters blenvd

B. While the shoulder is

C. And good lubrication

C. Because they have

A. A land bridge existed

B. The empire state building is

D. As sound waves enter

. C. Can magnify

10. D. Colliding the canon diablo meteorite
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1. D. Afteritis

2. B. Lobsters blend

3. B. While the shoulder is
4. C. And good lubrication
5.
6
7
8
9

C. Because they have

. A. A land bridge existed

. C. Although the Empire State Building is
. D. As sound waves enter

. C. Can magnify

10.C. The Canon Diablo meteorite colliding
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1. A spacecraft is freed from friction (after it is) launched into space.
(A) it

(B) it is

(C) after 1s

(D) after it is *(D)

2. (Lobsters blend) with their surroundings, or they hide in crevices for protection.
(A) Lobsters

(B) Lobsters blend *(B)

(C) Lobsters blending

(D) Because lobsters blend

3. (While the shoulder is) a ball-and-socket joint, the elbow is a simple hinge joint.
(A) While the shoulder

(B) While the shoulder is *(B)

(C) The shoulder is

(D) The shoulder

4. A car has several sections with moving parts, (and good lubrication) of those
parts 1s essential.

(A) good lubrication

(B) well lubricated

(C) and good lubrication *(C)

(D) and well lubricated

5. Bears cannot see well (because they have) small eyes.
(A) bears have

(B) because having

(C) because they have *(C)

(D) because of bears

6. (A land bridge existed) at the Isthmus of Panama, so animals were able to migrate
between North and South America.

(A) A land bridge existed *(A)

(B) When a land bridge existed

(C) A land bridge

(D) With a land bridge

7. (Although the Empire State Building is) mostly made of granite, it also contains
some human-made materials.



(A) The Empire State Building

(B) The Empire State Building is

(C) Although the Empire State Building is *(C)
(D) Although the Empire State Building is built

8. Pressure differences make the eardrum vibrate (as sound waves enter) the ear.
(A) enters the sound waves

(B) as sound waves

(C) sound waves enter

(D) as sound waves enter *(D)

9. An optical microscope magnifies as much as 2,000 times, but an electron
microscope (can magnify) as much as a million times.

(A) magnifying

(B) it magnifies

(C) can magnify *(D)

(D) magnify it

10. If scientific estimates are accurate, (the Cannon Diablo meteorite collided) with
the Earth about 20,000 years ago.

(A) the Canon Diablo meteorite collided *(A)

(B) the collision of the Canon Diablo meteorite

(C) the Canon Diablo meteorite colliding

(D) colliding the Canon Diablo meteorite
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1.

A spacecraft is freed from friction  launched into space.
(A) it
(B) itis
(C) after is
(D) after it is
____with their surroundings, or they hide in crevices for protection.
(A)Lobsters
(B)Lobsters blend
(C)Lobsters blending
(D)Because lobsters blend
_____ aball-and-socket joint, the elbow is a simple hinge joint.
(A) While the shoulder
(B) While the shoulder is
(C) The shoulder 1s
(D) The shoulder
A car has several sections with moving parts, of those parts is essential.
(A) good lubrication
(B) well lubricated
(C) and good lubrication
(D) and well lubricated
Bears cannot see well  small eyes.
(A) bears have
(B) because having
(C) because they have
(D) because of bears
at the Isthmus of Panama, so animals were able to migrate between North and

South America.



10.

(A) A land bridge existed
(B) When a land bridge existed
(C) A land bridge
(D) With a land bridge
mostly made of granite, it also contains some human-made materials.
(A) The Empire State Building
(B) The Empire State Building is
(C) Although the Empire State Building is
(D) Although the Empire State Building is built
Pressure differences make the eardrum vibrate  the ear.
(A) enters the sound waves
(B) as sound waves
(C) sound waves enter
(D) as sound waves enter
An optical microscope magnifies as much as 2,000 times, but an electron microscope
as much as a million times.
(A) magnifying
(B) it magnifies
(C) can magnify
(D) magnify it
If scientific estimates are accurate,  with the Earth about 20,000 years ago.
(A) the Canon Diablo meteorite collided
(B) the collision of the Canon Diablo meteorite
(C) the Canon Diablo meteorite colliding
(D) colliding the Canon Diablo meteorite
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1. D. Afteritis

2. B. Lobsters blend

3. B. While the shoulder is
4. C. And good lubrication
5.
6
7
8
9

C. Because they have

. A. A land bridge existed

. C. Although the Empire State Building is
. D. As sound waves enter

. C. Can magnify

10.C. The Canon Diablo meteorite colliding
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1. A spacecraft is freed from friction launched into
space.

(D) After it is

2. With their surroundings, or they hide in crevices for
protection.

(B) Lobsters blend

3. a ball and socket joint, the elbow is a simple hinge
joint.

(B) while the shoulder is

4. A car has several sections with moving parts, Of those
parts is essential

(C) And good lubrication
5. Bears cannot see well small eyes.

(C) Because they have

6. at the isthmus of Panama, so animals were able to
migrate between North and South America.

(A) A land bridge existed

7. mostly made of granite, it also contains some human-
made materials.

(C) Although the empire state building is
8. Pressure differences make the eardrum vibrate the ear.
(D) Sound waves enter

9. An optical microscope magnifies as much as 2.000 time, but an
electron microscope as much as a million times.

(C) Can magnify



10. If scientific estimates are accurate, with the Earth
about 20.000 years ago.

(A) The canon diablo meteorite
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1.

A spacecraft is freed from friction ......... launched into space.
a. It

b. Itis

c. After is

d. After it is

........... With their surroundings, or they hide in crevices for protection.

a. Lobsters

b. Lobsters blend

c. Lobsters blending

d. Because lobsters blend

.......... a ball-and-socket joint, the elbow is a simple hinge joint.
a. While the shoulder

b. While the shoulder is

c. The shoulder is

d. The shoulder

A car has several sections with moving parts, .......... Of those parts is essential.

a. Good lubrication

b. Well lubricated

c. And good lubrication
d. And well lubricated

Bears cannot see well ............ small eyes.

a. Bears have

b. Because having

c. Because they have
d. Because of bears

........... at the Isthmus of Panama, so animals were able to migrate between North and
South America.

a. A land bridge existed

b. When a land bridge existed
c. A land bridge

d. With a land bridge

........... mostly made of granite, it also contains some human-made materials.
a. The Empire State Building



10.

b. The Empire State Building is
c. Although the Empire State Building is
d. Although the Empire State Building is built

Pressure differences make the eardrum vibrate ........... the ear.
a. Enters the sound waves

b. As sound waves

c. Sound waves enter

d. As sound waves enter

An optical microscope magnifies as much as 2,000 times, but an electron microscope
........ as much as a million times.

a. Magnifying

b. It magnifies

c. Can magnify

d. Magnify it

If scientific estimates are accurate, .......... with the Earth about 20,000 years ago.
a. The Canon Diablo meteorite

b. The collision of the Canon Diablo meteorite

c. The Canon Diablo meteorite colliding

d. Colliding The Canon Diablo meteorite
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A spacecraft is freed from friction ......... launched into space.
a. It

b. Itis
c. After is
d. After it is

........... With their surroundings, or they hide in crevices for protection.
a. Lobsters

b. Lobsters blend

c. Lobsters blending

d. Because lobsters blend

.......... a ball-and-socket joint, the elbow is a simple hinge joint.
a. While the shoulder

b. While the shoulder is

c. The shoulder is

d. The shoulder

A car has several sections with moving parts, .......... Of those parts is essential.
a. Good lubrication

b. Well lubricated

c. And good lubrication

d. And well lubricated

Bears cannot see well ............ small eyes.

a. Bears have

b. Because having

c. Because they have
d. Because of bears

........... at the Isthmus of Panama, so animals were able to migrate between North and
South America.

a. A land bridge existed

b. When a land bridge existed
c. A land bridge

d. With a land bridge

........... mostly made of granite, it also contains some human-made materials.
a. The Empire State Building

b. The Empire State Building is

c. Although the Empire State Building is

d. Although the Empire State Building is built



8. Pressure differences make the eardrum vibrate ........... the ear.

a. Enters the sound waves
b. As sound waves

c¢. Sound waves enter

d. As sound waves enter

9. An optical microscope magnifies as much as 2,000 times, but an electron microscope
........ as much as a million times.
a. Magnifying
b. It magnifies
c. Can magnify
d. Magnify it

10. If scientific estimates are accurate, .......... with the Earth about 20,000 years ago.
a. The Canon Diablo meteorite
b. The collision of the Canon Diablo meteorite
c. The Canon Diablo meteorite colliding
d. Colliding The Canon Diablo meteorite
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1. A spacecraft is freed from friction (after it is) launched into space.
(A) it

(B) it is

(C) after 1s

(D) after it is *(D)

2. (Lobsters blend) with their surroundings, or they hide in crevices for protection.
(A) Lobsters

(B) Lobsters blend *(B)

(C) Lobsters blending

(D) Because lobsters blend

3. (While the shoulder is) a ball-and-socket joint, the elbow is a simple hinge joint.
(A) While the shoulder

(B) While the shoulder is *(B)

(C) The shoulder is

(D) The shoulder

4. A car has several sections with moving parts, (and good lubrication) of those
parts 1s essential.

(A) good lubrication

(B) well lubricated

(C) and good lubrication *(C)

(D) and well lubricated

5. Bears cannot see well (because they have) small eyes.
(A) bears have

(B) because having

(C) because they have *(C)

(D) because of bears

6. (A land bridge existed) at the Isthmus of Panama, so animals were able to migrate
between North and South America.

(A) A land bridge existed *(A)

(B) When a land bridge existed

(C) A land bridge

(D) With a land bridge

7. (Although the Empire State Building is) mostly made of granite, it also contains
some human-made materials.



(A) The Empire State Building

(B) The Empire State Building is

(C) Although the Empire State Building is *(C)
(D) Although the Empire State Building is built

8. Pressure differences make the eardrum vibrate (as sound waves enter) the ear.
(A) enters the sound waves

(B) as sound waves

(C) sound waves enter

(D) as sound waves enter *(D)

9. An optical microscope magnifies as much as 2,000 times, but an electron
microscope (can magnify) as much as a million times.

(A) magnifying

(B) it magnifies

(C) can magnify *(D)

(D) magnify it

10. If scientific estimates are accurate, (the Cannon Diablo meteorite collided) with
the Earth about 20,000 years ago.

(A) the Canon Diablo meteorite collided *(A)

(B) the collision of the Canon Diablo meteorite

(C) the Canon Diablo meteorite colliding

(D) colliding the Canon Diablo meteorite
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1. A spacecraft is freed from friction (after it is) launched into space.
(A) it

(B) it is

(C) after 1s

(D) after it is *(D)

2. (Lobsters blend) with their surroundings, or they hide in crevices for protection.
(A) Lobsters

(B) Lobsters blend *(B)

(C) Lobsters blending

(D) Because lobsters blend

3. (While the shoulder is) a ball-and-socket joint, the elbow is a simple hinge joint.
(A) While the shoulder

(B) While the shoulder is *(B)

(C) The shoulder is

(D) The shoulder

4. A car has several sections with moving parts, (and good lubrication) of those
parts 1s essential.

(A) good lubrication

(B) well lubricated

(C) and good lubrication *(C)

(D) and well lubricated

5. Bears cannot see well (because they have) small eyes.
(A) bears have

(B) because having

(C) because they have *(C)

(D) because of bears

6. (A land bridge existed) at the Isthmus of Panama, so animals were able to migrate
between North and South America.

(A) A land bridge existed *(A)

(B) When a land bridge existed

(C) A land bridge

(D) With a land bridge

7. (Although the Empire State Building is) mostly made of granite, it also contains
some human-made materials.



(A) The Empire State Building

(B) The Empire State Building is

(C) Although the Empire State Building is *(C)
(D) Although the Empire State Building is built

8. Pressure differences make the eardrum vibrate (as sound waves enter) the ear.
(A) enters the sound waves

(B) as sound waves

(C) sound waves enter

(D) as sound waves enter *(D)

9. An optical microscope magnifies as much as 2,000 times, but an electron
microscope (can magnify) as much as a million times.

(A) magnifying

(B) it magnifies

(C) can magnify *(D)

(D) magnify it

10. If scientific estimates are accurate, (the Cannon Diablo meteorite collided) with
the Earth about 20,000 years ago.

(A) the Canon Diablo meteorite collided *(A)

(B) the collision of the Canon Diablo meteorite

(C) the Canon Diablo meteorite colliding

(D) colliding the Canon Diablo meteorite



Nama : Fathur Rahman

Kelas : IK3A

NIM : 191910029

MK : B.Inggris

1. A spacecraft is freed from friction launched into space.

(D) Afteritis

2. With their surroundings, or they hide in crevices for protection.

(B) Lobsters blend

3. aballand socket joint, the elbow is a simple hinge joint.

(B) while the shoulder is

4. A car has several sections with moving parts, _ Of those parts is essential
(C) And good lubrication

5. Bears cannot see well _ small eyes.

(C) Because they have

6. at the isthmus of Panama, so animals were able to migrate between North and South
America.

(A) A land bridge existed

7. mostly made of granite, it also contains some human-made materials.
(C) Although the empire state building is

8. Pressure differences make the eardrum vibrate _ the ear.

(D) Sound waves enter

9. An optical microscope magnifies as much as 2.000 time, but an electron microscope as
much as a million times.

(C) Can magnify
10. If scientific estimates are accurate, with the Earth about 20.000 years ago.

(A) The canon diablo meteorite
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1. A spacecraft is freed from friction  launched into space.
(A) it

(B) it is

(C) after is

(D) after it is

2. with their surroundings, or they hide in crevices for protection.
(A) Lobsters

(B) Lobsters blend

(C) Lobsters blending

(D) Because lobsters blend

3. aball-and-socket joint, the elbow is a simple hinge joint.
(A) While the shoulder

(B) While the shoulder is

(C) The shoulder is

(D) The shoulder



4. A car has several sections with moving parts,
(A) good lubrication

(B) well lubricated

(C) and good lubrication

(D) and well lubricated

5. Bears cannot see well

small eyes.
(A) bears have

(B) because having

(C) because they have

(D) because of bears

6. at the Isthmus of Panama, so animals were able to migrate between North and South

America.

(A) A land bridge existed

(B) When a land bridge existed
(C) A land bridge

(D) With a land bridge

of those parts is essential.

7. mostly made of granite, it also contains some human-made materials.

(A) The Empire State Building
(B) The Empire State Building is
(C) Although the Empire State Building is

(D) Although the Empire State Building is built



8. Pressure differences make the eardrum vibrate  the ear.
(A) enters the sound waves

(B) as sound waves

(C) sound waves enter

(D) as sound waves enter

9. An optical microscope magnifies as much as 2,000 times, but an electron microscope

as much as a million times.
(A) magnifying

(B) it magnifies

(C) can magnify

(D) magnify it

10. If scientific estimates are accurate,  with the Earth about 20,000 years ago.
(A) the Canon Diablo meteorite collided

(B) the collision of the Canon Diablo meteorite

(C) the Canon Diablo meteorite colliding

(D) colliding the Canon Diablo meteorite
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1. D
2. B
3.B
4. C
5. C
6. A
7. C
8. D
9. C
10.D



1. A spacecraft is freed from friction launched into space.

(A) it

(B) itis

(C) after is
(D) after it is

answer :(D) after it is.

2. with their surroundings, or they hide in crevices for protection.

(A) Lobsters

(B) Lobsters blend

(C) Lobsters blending

(D) Because lobsters blend

Answer : (B) Lobsters

3. a ball-and-socket joint, the elbow is a simple hinge joint.

(A) While the shoulder
(B) While the shoulder is
(C) The shoulder is

(D) The shoulder

Answer : (B) While the shoulder is

4. A car has several sections with moving parts,

(A) good lubrication
(B) well lubricated

(C) and good lubrication
(D) and well lubricated

Answer : (C) and good lubrication

of those parts is essential.



5. Bears cannot see well small eyes.

(A) bears have
(B) because having
(C) because they have

(D) because of bears

Answer : (C) because they have

6. at the Isthmus of Panama, so animals were able to migrate between North and South

America.

(A) A land bridge existed

(B) When a land bridge existed
(C) A land bridge

(D) With a land bridge

Answer : (A). A land bridge existed

7. mostly made of granite, it also contains some human-made materials.

(A) The Empire State Building

(B) The Empire State Building is

(C) Although the Empire State Building is

(D) Although the Empire State Building is built

Answer : (C) Although the Empire State Building is

8. Pressure differences make the eardrum vibrate the ear.

(A) enters the sound waves
(B) as sound waves
(C) sound waves enter

(D) as sound waves enter



Answer : (D). as sound waves enter

9. An optical microscope magnifies as much as 2,000 times, but an electron microscope

as much as a million times.

(A) magnifying
(B) it magnifies
(C) can magnify
(D) magnify it

Answer : (C) can magnify

10. If scientific estimates are accurate, with the Earth about 20,000 years ago.

(A) the Canon Diablo meteorite collided
(B) the collision of the Canon Diablo meteorite
(C) the Canon Diablo meteorite colliding

(D) colliding the Canon Diablo meteorite

Answer : (A) the Canon Diablo meteorite collided



Name : M. Akbar Ghazali

Nim :191910033

The Answer

. after it is

. lobsters blend

. the shoulder is

. and good lubrication

. because they have

. when a land brigde existed

. although the empire state building is
. sound waves enter

. magnifying

SO RN YR WL~
T>ANATAAAT D

. the collision of the canon diablo meteorite



Name

Class

NIM

: Muchammad Arya Perdana
:1K3B

: 191910005

A SpaceCraft is freed from friction.....
launched into space.

a. It

b. Itis

c. Afteris
d. Afteritis

...... with their surrounding, or they
hide in crevices for protection.

a. Lobsters

b. Lobsters blend

c. Lobsters blending

d. Because Lobsters blend

.... a ball and socket joint, the elbow is
simple hinge joint.

a. While the shoulder

b. While the shoulder is

c. Theshoulderis

d. The shoulder

A car has several sections with moving
parts,..... of those parts is essential.
a. Good lubricantion

b. Well lubricated

c. And good lubrication

d. And well lubricated

Bears can’t see well....small eyes.
a. Bears have

b. Because having

c. Because they have

d. Because of bears

...at the Isthmus of Panama, so
animals were able to migrate
between north and south America.
a. Aland bridge existed

b. When a land bridge existed

c. Aland bridge

d. With aland bridge

7.

10.

.... mostly made of granite, it also

contains some human made

materials.

a. The Empire State Building

b. The Empire State Building is

c. Although the Empire State
Building is

d. Although the Empire State
Building is built

Pressure differences make the

eardrum vibrate....the ear.

a. Enters the sound waves

b. Assound waves

c. Sound waves enter

d. Assound waves enter

An optical microscope magnifies as

much as 2.000 times, but electron

microscope....as much as million

times.

a. Magnifying

b. It magnifies

c. Can magnifies

d. Magnify it

If scientific estimates are accurate....

with the Earth about 20,000 years

ago.

a. The canon Diablo meteorite

b. The collision of the canon diablo
meteorite

¢. The canon diablo meteorite

colliding

d. Colliding the canon diablo
meteorite

ANSWERS

1.A 6.D

2.C 7.B

3.A 8.C

4.C 9.C

5.C 10.B
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1. A spacecraft is freed from friction (D) after it is launched into space.
(A) it

(B) it is

(C) after is

(D) after it is

2. (B) Lobsters blend with their surroundings, or they hide in crevices for protection.

(A) Lobsters
(B) Lobsters blend
(C) Lobsters blending

(D) Because lobsters blend

3. (B) While the shoulder is a ball-and-socket joint, the elbow is a simple hinge joint.

(A) While the shoulder
(B) While the shoulder is
(C) The shoulder is

(D) The shoulder



4. A car has several sections with moving parts, (C) and good lubrication

of those parts is essential.
(A) good lubrication

(B) well lubricated

(C) and good lubrication

(D) and well lubricated

5. Bears cannot see well (C) because they have small eyes.

(A) bears have
(B) because having
(C) because they have

(D) because of bears

6. (A) A land bridge existed at the [sthmus of Panama, so animals were able to migrate

between North and South America.
(A) A land bridge existed

(B) When a land bridge existed
(C) A land bridge

(D) With a land bridge

7. (C) Although the Empire State Building is mostly made of granite, it also contains some

human-made materials.

(A) The Empire State Building



(B) The Empire State Building is
(C) Although the Empire State Building is

(D) Although the Empire State Building is built

8. Pressure differences make the eardrum vibrate (D) as sound waves enter the ear.

(A) enters the sound waves
(B) as sound waves
(C) sound waves enter

(D) as sound waves enter

9. An optical microscope magnifies as much as 2,000 times, but an electron microscope (C)

can magnify as much as a million times.
(A) magnifying
(B) it magnifies
(C) can magnify

(D) magnify it

10. If scientific estimates are accurate, (A) the Canon Diablo meteorite collided with the

Earth about 20,000 years ago.

(A) the Canon Diablo meteorite collided

(B) the collision of the Canon Diablo meteorite
(C) the Canon Diablo meteorite colliding

(D) colliding the Canon Diablo meteorite



Soal B. Inggris

1. A spacecraft is freed from friction  launched into space.
(A) it

(B)itis

(C) after is

(D) after it is

(D) after it is

2. with their surroundings, or they hide in crevices for protection.
(A) Lobsters

(B) Lobsters blend

(C) Lobsters blending

(D) Because lobsters blend

(B) Lobsters blend

3. a ball-and-socket joint, the elbow is a simple hinge joint.
(A) While the shoulder

(B) While the shoulder is

(C) The shoulder is

(D) The shoulder

(B) While the shoulder is
4. A car has several sections with moving parts, of those parts is essential.

(A) good lubrication

(B) well lubricated

(C) and good lubrication
(D) and well lubricated

(C) and good lubrication

5. Bears cannot see well small eyes.
(A) bears have

(B) because having

(C) because they have

(D) because of bears

(C) because they have



6. at the Isthmus of Panama, so animals were able to migrate between North and
South America.

(A) A land bridge existed

(B) When a land bridge existed

(C) A land bridge

(D) With a land bridge

(A) A land bridge existed
7. mostly made of granite, it also contains some human-made materials.

(A) The Empire State Building

(B) The Empire State Building is

(C) Although the Empire State Building is

(D) Although the Empire State Building is built

(C) Although the Empire State Building is

8. Pressure differences make the eardrum vibrate the ear.
(A) enters the sound waves

(B) as sound waves

(C) sound waves enter

(D) as sound waves enter

(D) as sound waves enter

9. An optical microscope magnifies as much as 2,000 times, but an electron microscope
as much as a million times.

(A) magnifying

(B) it magnifies

(C) can magnify

(D) magnitfy it

(C) can magnify

10. If scientific estimates are accurate, _ with the Earth about 20,000 years ago.
(A) the Canon Diablo meteorite collided

(B) the collision of the Canon Diablo meteorite

(C) the Canon Diablo meteorite colliding

(D) colliding the Canon Diablo meteorite

(A) the Canon Diablo meteorite collided
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. Aspacecraft is freed from friction .........
launched into space.

(A) It

(B) Itis

(C) Afteris

(D) Afteritis

. s With their surroundings, or they
hide in crevices for protection.

(A) Lobsters

(B) Lobsters blend

(C) Lobsters blending

(D) Because lobsters blend

+wennns @ Dall-and-socket joint, the elbow is

a simple hinge joint.

(A) While the shoulder
(B) While the shoulder is
(C) The shoulder is

(D) The shoulder

. Acar has several sections with moving
parts, ......... Of those parts is essential.
(A) Good lubrication

(B) Well lubricated

(C) And good lubrication

(D) And well lubricated

. Bears cannot see well .......... small eyes.
(A) Bears have

(B) Because having

(C) Because they have

(D) Because of bears

b e at the Isthmus of Panama, so

animals were able to migrate between
North and South America.

(A) A land bridge existed

(B) When a land bridge existed

(C) Aland bridge

(D) with a land bridge

o e MOStly made of granite, it also

contains some human-made materials.

(A) The Empire State Building

(B) The Empire State Building is

(C) Although the Empire State Building is

(D) Although the Empire State Building is
built

. Pressure differences make the eardrum

vibrate ......... the ear.

(A) Enters the sound waves
(B) As sound waves

(C) Sound waves enter

(D) As sound waves enter

. An optical microscope magnifies as much

as 2,000 times, but an electron
Microscope ........... as much as a million
times.

(A) Magnifying

(B) It magnifies

(C) Can magnify

(D) Magnify it

. If scientific estimates are accurate, ........

with the Earth about 20,000 years ago.

(A) The Canon Diablo meteorite

(B) The collision of the Canon Diablo
meteorite

(C) The Canon Diablo meteorite colliding

(D) Colliding The Canon Diablo meteorite
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1. A spacecraft is freed from friction .........
launched into space.

(A) It

(B) Itis

(C) After is

(D) After it is

2 i With their surroundings, or they
hide in crevices for protection.

(A) Lobsters

(B) Lobsters blend

(C) Lobsters blending

(D) Because lobsters blend

3 a ball-and-socket joint, the elbow is
a simple hinge joint.

(A) While the shoulder

(B) While the shoulder is

(C) The shoulder is

(D) The shoulder

4. A car has several sections with moving
parts, .......... Of those parts is essential.
(A) Good lubrication

(B) Well lubricated

(C) And good lubrication

(D) And well lubricated

5. Bears cannot see well ........... small eyes.
(A) Bears have

(B) Because having

(C) Because they have

(D) Because of bears

6. e at the Isthmus of Panama, so
animals were able to migrate between
North and South America.

(A) A land bridge existed

(B) When a land bridge existed

(C) A land bridge

(D) With a land bridge



Teiiiiinan. mostly made of granite, it also
contains some human-made materials.

(A) The Empire State Building

(B) The Empire State Building is

(C) Although the Empire State Building is
(D) Although the Empire State Building is
built

8. Pressure differences make the eardrum
vibrate ......... the ear.

(A) Enters the sound waves

(B) As sound waves

(C) Sound waves enter

(D) As sound waves enter

9. An optical microscope magnifies as much
as 2,000 times, but an electron

microscope ........... as much as a million
times.

(A) Magnifying

(B) It magnifies

(C) Can magnify

(D) Magnify it

10. If scientific estimates are accurate, ........
with the Earth about 20,000 years ago.

(A) The Canon Diablo meteorite

(B) The collision of the Canon Diablo
meteorite

(C) The Canon Diablo meteorite colliding
(D) Colliding The Canon Diablo meteorite
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1. A spacecraft is freed from friction launched into space.
answer: D. after it is
2. with their surroundings, or they hide in crevices for protection.
answer: B. Lobsters blend
3. aball-and-socket joint, the elbow is a simple hinge joint.
answer: B. While the shoulder is
4. A car has several sections with moving parts, ~ of those parts is essential.
answer: C. and good lubrication
5. Bears cannot see well small eyes.
answer: C. because they have
6. at the Isthmus of Panama, so animals were able to migrate between North and South
America.
answer: A. A land bridge existed
7. mostly made of granite, it also contains some human-made materials.
answer: C. Although the Empire State Building is
8. Pressure differences make the eardrum vibrate  the ear.
answer: D. as sound waves enter
9. An optical microscope magnifies as much as 2,000 times, but an electron microscope
as much as a million times.
answer: C. can magnify
10. If scientific estimates are accurate, with the Earth about 20,000 years ago.

answer: A. the Canon Diablo meteorite collided
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1. A spacecraft is freed from friction ____ launched into space.
(A) it

(B)itis

(C) afteris

(D) afteritis

Answer: D. after it is

2. with their surroundings, or they hide in crevices for protection.
(A) Lobsters

(B) Lobsters blend

(C) Lobsters blending

(D) Because lobsters blend

Answer: B. Lobsters blend

3. aball-and-socket joint, the elbow is a simple hinge joint.
(A) While the shoulder

(B) While the shoulder is

(C) The shoulder is

(D) The shoulder

Answer: B. While the shoulder is



4. A car has several sections with moving parts, of those parts is essential.
(A) good lubrication

(B) well lubricated

(C) and good lubrication

(D) and well lubricated

Answer: C. and good lubrication

5. Bears cannot see well __ small eyes.
(A) bears have

(B) because having

(C) because they have

(D) because of bears

Answer: C. because they have

6. at the Isthmus of Panama, so animals were able to migrate between North and South
America.

(A) A land bridge existed

(B) When a land bridge existed
(C) Aland bridge

(D) With a land bridge

Answer: A. A land bridge existed



7. mostly made of granite, it also contains some human-made materials.
(A) The Empire State Building

(B) The Empire State Building is

(C) Although the Empire State Building is

(D) Although the Empire State Building is built

Answer: C. Although the Empire State Building ia

8. Pressure differences make the eardrum vibrate ____ the ear.
(A) enters the sound waves

(B) as sound waves

(C) sound waves enter

(D) as sound waves enter

Answer: D. as sound waves enter

9. An optical microscope magnifies as much as 2,000 times, but an electron microscope
as much as a million times.

(A) magnifying

(B) it magnifies
(C) can magnify
(D) magnify it

Answer: C. can magnify



10. If scientific estimates are accurate, _ with the Earth about 20,000 years ago.
(A) the Canon Diablo meteorite collided

(B) the collision of the Canon Diablo meteorite

(C) the Canon Diablo meteorite colliding

(D) colliding the Canon Diablo meteorite

Answer: A. the Canon Diablo meteorite collided
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1.

A spacecraft is freed from friction
......... launched into space.

(B)Itis
(C)After is
(D)After it is

............. With their surroundings, or
they hide in crevices for protection.
(A)Lobsters

(B)Lobsters blend

(C)Lobsters blending

(D)Because lobsters blend

............ a ball-and-socket joint, the
elbow is a simple hinge joint.
(A)While the shoulder

(B)While the shoulder is

(C)The shoulder is

(D)The shoulder

A car has several sections with
moving parts, .......... Of those parts is
essential.

(A)Good lubrication

(B)Well lubricated

(C)And good lubrication

(D)And well lubricated

Bears cannot see well ........... small
eyes.

(A)Bears have

(B)Because having

(C)Because they have

(D)Because of bears

......... at the Isthmus of Panama, so
animals were able to migrate between
North and South America.

(A)A land bridge existed

(B)When a land bridge existed

(C)A land bridge

(D)With a land bridge

10.

............ mostly made of granite, it also
contains some human-made materials.
(A)The Empire State Building

(B)The Empire State Building is
(C)Although the Empire State

Building is
(D)Although the Empire State
Building is built

Pressure differences make the eardrum
vibrate ......... the ear.

(A)Enters the sound waves

(B)As sound waves

(C)Sound waves enter

(D)As sound waves enter

An optical microscope magnifies as
much as 2,000 times, but an electron
microscope ........... as much as a
million times.

(A)Magnifying

(B)It magnifies

(C)Can magnify

(D)Magnify it

If scientific estimates are accurate,

........ with the Earth about 20,000

years ago.

(A)The Canon Diablo meteorite

(B)The collision of the Canon Diablo
meteorite

(C)The Canon Diablo meteorite
colliding

(D)Colliding The Canon Diablo
meteorite

Nama : Pipit Anggreani
Kelas :IK3A
Nim : 191910003

Mk : B.Inggris
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1. A spacecraft is freed from friction ____ launched into space.
(A) it

(B)itis

(C) after is

(D) afteritis

Answer: D. after it is

2. with their surroundings, or they hide in crevices for protection.
(A) Lobsters

(B) Lobsters blend

(C) Lobsters blending

(D) Because lobsters blend

Answer: B. Lobsters blend

3.___ aball-and-socket joint, the elbow is a simple hinge joint.
(A) While the shoulder

(B) While the shoulder is

(C) The shoulder is

(D) The shoulder



Answer: B. While the shoulder is

4. A car has several sections with moving parts, of those parts is essential.
(A) good lubrication

(B) well lubricated

(C) and good lubrication

(D) and well lubricated

Answer: C. and good lubrication

5. Bears cannot see well ___ small eyes.
(A) bears have

(B) because having

(C) because they have

(D) because of bears

Answer: C. because they have

6. at the Isthmus of Panama, so animals were able to migrate between North and South
America.

(A) A land bridge existed

(B) When a land bridge existed
(C) Aland bridge

(D) With a land bridge

Answer: A. A land bridge existed



7. mostly made of granite, it also contains some human-made materials.
(A) The Empire State Building

(B) The Empire State Building is

(C) Although the Empire State Building is

(D) Although the Empire State Building is built

Answer: C. Although the Empire State Building ia

8. Pressure differences make the eardrum vibrate _ the ear.
(A) enters the sound waves

(B) as sound waves

(C) sound waves enter

(D) as sound waves enter

Answer: D. as sound waves enter

9. An optical microscope magnifies as much as 2,000 times, but an electron microscope
as much as a million times.

(A) magnifying

(B) it magnifies
(C) can magnify
(D) magnify it

Answer: C. can magnify

10. If scientific estimates are accurate, with the Earth about 20,000 years ago.



(A) the Canon Diablo meteorite collided
(B) the collision of the Canon Diablo meteorite
(C) the Canon Diablo meteorite colliding
(D) colliding the Canon Diablo meteorite

Answer: A. the Canon Diablo meteorite collided
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1. A spacecraft is freed from friction  launched into space.
(A) it
(B) itis
(C) after is
(D) after it is
2. with their surroundings, or they hide in crevices for protection.
(A) Lobsters

(B) Lobsters blend
(C) Lobsters blending
(D) Because lobsters blend
3. aball-and-socket joint, the elbow is a simple hinge joint.
(A) While the shoulder
(B) While the shoulder is
(C) The shoulder 1s
(D) The shoulder
4. A car has several sections with moving parts, of those parts is essential.
(A) good lubrication
(B) well lubricated
(C) and good lubrication
(D) and well lubricated
5. Bears cannotsee well  small eyes.
(A) bears have
(B) because having
(C) because they have

(D) because of bears



10.

at the Isthmus of Panama, so animals were able to migrate between North and
South America.
(A) A land bridge existed
(B) When a land bridge existed
(C) A land bridge
(D) With a land bridge
mostly made of granite, it also contains some human-made materials.
(A) The Empire State Building
(B) The Empire State Building is
(C) Although the Empire State Building is
(D) Although the Empire State Building is built

. Pressure differences make the eardrum vibrate the ear.

(A) enters the sound waves

(B) as sound waves

(C) sound waves enter

(D) as sound waves enter

An optical microscope magnifies as much as 2,000 times, but an electron microscope
as much as a million times.

(A) magnifying

(B) it magnifies

(C) can magnify

(D) magnify it

If scientific estimates are accurate,  with the Earth about 20,000 years ago.

(A) the Canon Diablo meteorite collided

(B) the collision of the Canon Diablo meteorite

(C) the Canon Diablo meteorite colliding

(D) colliding the Canon Diablo meteorite
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A spacecraft is freed from friction ......... launched into space.
a. It

b. Itis
c. After is
d. After it is

........... With their surroundings, or they hide in crevices for protection.
a. Lobsters

b. Lobsters blend

c. Lobsters blending

d. Because lobsters blend

.......... a ball-and-socket joint, the elbow is a simple hinge joint.
a. While the shoulder

b. While the shoulder is

c. The shoulder is

d. The shoulder

A car has several sections with moving parts, .......... Of those parts is essential.
a. Good lubrication

b. Well lubricated

c. And good lubrication

d. And well lubricated

Bears cannot see well ............ small eyes.

a. Bears have

b. Because having

c. Because they have
d. Because of bears

........... at the Isthmus of Panama, so animals were able to migrate between North and
South America.

a. A land bridge existed

b. When a land bridge existed
c. A land bridge

d. With a land bridge

........... mostly made of granite, it also contains some human-made materials.
a. The Empire State Building

b. The Empire State Building is

c. Although the Empire State Building is

d. Although the Empire State Building is built



8. Pressure differences make the eardrum vibrate ........... the ear.

a. Enters the sound waves
b. As sound waves

c¢. Sound waves enter

d. As sound waves enter

9. An optical microscope magnifies as much as 2,000 times, but an electron microscope
........ as much as a million times.
a. Magnifying
b. It magnifies
c. Can magnify
d. Magnify it

10. If scientific estimates are accurate, .......... with the Earth about 20,000 years ago.
a. The Canon Diablo meteorite
b. The collision of the Canon Diablo meteorite
c. The Canon Diablo meteorite colliding
d. Colliding The Canon Diablo meteorite



Name: RM.RIZKI IRFANI
NIM: 191910036
Class: IK3A

1. A spacecraft is freed from friction (after it is) launched into space.
(A) it

(B) it is

(C) after 1s

(D) after it is *(D)

2. (Lobsters blend) with their surroundings, or they hide in crevices for protection.
(A) Lobsters

(B) Lobsters blend *(B)

(C) Lobsters blending

(D) Because lobsters blend

3. (While the shoulder is) a ball-and-socket joint, the elbow is a simple hinge joint.
(A) While the shoulder

(B) While the shoulder is *(B)

(C) The shoulder is

(D) The shoulder

4. A car has several sections with moving parts, (and good lubrication) of those
parts 1s essential.

(A) good lubrication

(B) well lubricated

(C) and good lubrication *(C)

(D) and well lubricated

5. Bears cannot see well (because they have) small eyes.
(A) bears have

(B) because having

(C) because they have *(C)

(D) because of bears

6. (A land bridge existed) at the Isthmus of Panama, so animals were able to migrate
between North and South America.

(A) A land bridge existed *(A)

(B) When a land bridge existed

(C) A land bridge

(D) With a land bridge

7. (Although the Empire State Building is) mostly made of granite, it also contains
some human-made materials.



(A) The Empire State Building

(B) The Empire State Building is

(C) Although the Empire State Building is *(C)
(D) Although the Empire State Building is built

8. Pressure differences make the eardrum vibrate (as sound waves enter) the ear.
(A) enters the sound waves

(B) as sound waves

(C) sound waves enter

(D) as sound waves enter *(D)

9. An optical microscope magnifies as much as 2,000 times, but an electron
microscope (can magnify) as much as a million times.

(A) magnifying

(B) it magnifies

(C) can magnify *(D)

(D) magnify it

10. If scientific estimates are accurate, (the Cannon Diablo meteorite collided) with
the Earth about 20,000 years ago.

(A) the Canon Diablo meteorite collided *(A)

(B) the collision of the Canon Diablo meteorite

(C) the Canon Diablo meteorite colliding

(D) colliding the Canon Diablo meteorite



Nama : Sahdan
Kelas : IK3A

Nim : 191910045

1. A spacecraft is freed from friction  launched into space.
(A) it

(B) it is

(C) after is

(D) after it is

2. with their surroundings, or they hide in crevices for protection.
(A) Lobsters

(B) Lobsters blend

(C) Lobsters blending

(D) Because lobsters blend

3. aball-and-socket joint, the elbow is a simple hinge joint.
(A) While the shoulder

(B) While the shoulder is

(C) The shoulder is

(D) The shoulder



4. A car has several sections with moving parts,
(A) good lubrication

(B) well lubricated

(C) and good lubrication

(D) and well lubricated

5. Bears cannot see well

small eyes.
(A) bears have

(B) because having

(C) because they have

(D) because of bears

6. at the Isthmus of Panama, so animals were able to migrate between North and South

America.

(A) A land bridge existed

(B) When a land bridge existed
(C) A land bridge

(D) With a land bridge

of those parts is essential.

7. mostly made of granite, it also contains some human-made materials.

(A) The Empire State Building
(B) The Empire State Building is
(C) Although the Empire State Building is

(D) Although the Empire State Building is built



8. Pressure differences make the eardrum vibrate  the ear.
(A) enters the sound waves

(B) as sound waves

(C) sound waves enter

(D) as sound waves enter

9. An optical microscope magnifies as much as 2,000 times, but an electron microscope

as much as a million times.
(A) magnifying

(B) it magnifies

(C) can magnify

(D) magnify it

10. If scientific estimates are accurate,  with the Earth about 20,000 years ago.
(A) the Canon Diablo meteorite collided

(B) the collision of the Canon Diablo meteorite

(C) the Canon Diablo meteorite colliding

(D) colliding the Canon Diablo meteorite



1. Aspacecraft is freed from friction ......... 6. .......atthe Isthmus of Panama, so

launched into space. animals were able to migrate between
(A) It North and South America.

(B) Itis eldleddandbrdgeentsE®T
(C) Afteris (B) When a land bridge existed

W (C) Aland bridge

(D) With a land bridge

2. ..cccoe.. With their surroundings, or they 7. ... mostly made of granite, it also
hide in crevices for protection. contains some human-made materials.
(A) Lobsters (A) The Empire State Building
aedBltohstarchlond, e (B) The Empire State Building is
(C) Lobsters blending anibithsugh-tive-Ermpire-STaTe suilding is
(D) Because lobsters blend (D) Although the Empire State Building is
built
3. ........ d ball-and-socket joint, the elbow is 8. Pressure differences make the eardrum
a simple hinge joint. vibrate ......... the ear.
(A) While the shoulder (A} Enters the sound waves
M (B) As sound waves
(C) The shoulder is (C) Sound waves enter

(D) The shoulder

4. A car has several sections with moving 9. An optical microscope magnifies as much
parts, ... Of those parts is essential. as 2,000 times, but an electron
(A) Good lubrication microscope ........... as much as a million
(B) wWell lubricated times.
el CLAN SO0 s (A) Magnifying
(D) And well lubricated (B) It magnifies
W_—
(D) Magnify it
5. Bears cannot see well ........... small eyes. 10. If scientific estimates are accurate, ........
(A) Bears have with the Earth about 20,000 years ago.
(B) Because having Smpblalbo Caoon Dicble-mreteTrite™
TCTBecpuse-they-have- ] (B) The collision of the Canon Diablo
(D) Because of bears meteorite

(C) The Canon Diablo meteorite colliding
(D) Colliding The Canon Diablo meteorite
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